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02 It M AHE L 230,445 0 230,445
O=F=xcl 254l XE A
15& 17,070, 000kg*90% 230,445
402 RI2EXt20| ™ 909,930 0 909, 930
01 212t 2 AL B (RERTH ) 909,930 0 909, 930
O=F=& & ¥ HMeldl XA
3,000& %350, 000 »86 . 66% 909,930
s=23 20,050 13,500 6,550
= 1,290
= 4,428
[ia 14,332
qlleE2 28 =& 4,000 4,000 0
301 et a3z 4,000 4,000 0
12IJIEBE43 4,000 4,000 0
ORJIsE:2Es 100,000& 405 4,000
qllss 25 XN& 9,600 5,000 4,600
< 2,880
s 6,720
301 et Az 9,600 5,000 4,600
< 2,880
[ia 6,720
12 JIEHE4 = 9,600 5,000 4,600
RIsSEES(BEX) 100,000& 965 9,600
< 2,880
[ia 6,720
2020 543 >=d XN 4,500 4,500 0
= 900
< 1,080
e 2,520
301 et d = 4,500 4,500 0
= 900
= 1,080
e 2,520
12 JIE2 4= 4,500 4,500 0
Ooz1d0l 43 ==Hl N
150,000& 305 4,500
= 900
< 1,080
i 2,520
FI RS2 X2 Bz HE X 1,950 0 1,950
= 390
< 468
e 1,092
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EXN: Fat
a4 B L
el JbE Y CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
o 3,500
307 2iz2to| A 5,000 0 5,000
&< 1,500
= 3,500
02 QIZFA AAIE E X 5,000 0 5,000
OHYHXNSHALSLA oletedpsl X
5,000 *2, 0005 *50% 5,000
& 1,500
= 3,500
S8 ALY 70,000 0 70,000
206 M = Hl 70,000 0 70,000
01 X2 H| 70,000 0 70,000
Oz At 70,000
—JISASANE A5 2 50,000
—JsgdE =X APE 1Y 20,000
TR LAl MHEE P XK (HEH]) 110,000 76,790 33,210
= 33,000
= 22,000
= 55,000
301 et A= 110,000 76,790 33,210
= 33,000
= 22,000
= 55,000
12 JIEtE A= 110,000 76,790 33,210
Oa B24et JHE| 10,000 11,0005 110,000
= 33,000
= 22,000
= 55,000
PHE LA MEAE PAXH (M AES A= 110,000 110,000 0
= 55,000
& 16,500
= 38,500
301 et A= 110,000 110,000 0
= 55,000
& 16,500
= 38,500
12 JIEtE A= 110,000 110,000 0
Onlgtee Al 8= Al=H| 5,000& *x22,0005 110,000
= 55,000
= 16,500
= 38,500
FHE HYES AM=Hl 88,850 0 88,850
= 26,655
= 62,195
301 et A= 88,850 0 88,850




N L1
a4 B L
Sl IS (29l 8)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== 26,655
s 62,195
12 JIE2 4= 88,850 0 88,850
OFME HYES Al=H 88,850
< 26,655
[ia 62,195
olsa 22 A=) XN& A 10,000 0 10,000
402 RI2HXt20l ™ 10,000 0 10,000
01 212t 2 AL E = (REM ) 10,000 0 10,000
Oo0lsal 28 A= 1,000, 000& *20CH x50% 10,000
S= A H™HelAlE K& 20,000 84,000 A 64,000
< 6,000
s 14,000
402 QI2H X201 M 20,000 84,000 A 64,000
< 6,000
s 14,000
02 QIZEH 2 AL EZ (01X TS ) 20,000 84,000 A 64,000
OsSAAMHelAlE XA
20,000, 000& »2H x50% 20,000
< 6,000
s 14,000
CCTV s &< olZet XJAY 60,000 69,840 A 9,840
J| 30,000
< 9,000
s 21,000
402 RI2EX20| ™ 60,000 69,840 A9,840
J| 30,000
= 9,000
[ia 21,000
02 QI 2 AL EZ(OI X TH ) 60,000 69,840 A 9,840
OCCTV & &< olmetd x| XA
10,000,000 *107H 2~ x60% 60,000
J| 30,000
< 9,000
i 21,000
OCCTV S &< ozt XA (HLEsOH) 0
HELSHEAE XEA 586,400 0 586,400
= 293,200
< 87,960
s 205,240
402 RI2EX20l A 586,400 0 586,400
= 293,200
< 87,960
s 205,240
02 U2 THEALEZ(0IETHR) 586,400 0 586,400
O NBASHAAE XNH 586,400
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EXN: Fat
a4 B L
Sl IS (29l 8)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OJ=E A HE MM HEHYE Hdel
350,000 #1005 *50% 17,500
249 22| 48,000 38,400 9,600
== 14,400
= 33,600
301 LBt A= 48,000 38,400 9,600
= 14,400
= 33,600
12 JIEtE A& =2 48,000 38,400 9,600
O249 24 1,000,000 x4 x12& 48,000
= 14,400
= 33,600
ANHL2EQAMXMI MHANMNYE ZSHH 2= 7,040 0 7,040
= 3,520
& 1,056
= 2,464
301 et A= 7,040 0 7,040
= 3,520
& 1,056
= 2,464
12 JIEtE A= 7,040 0 7,040
OXNHRAUAMEI MAAERA B2SHAH 25
44,000 = 160CH 7,040
= 3,520
= 1,056
= 2,464
S YAHAZHAH = 1,965,319 2,385,220 A419,901
J| 105,360
== 1,030,920
= 829,039
SOtAl8 22 =8 598, 199 945,380 AN 347,181
101 Q124 H] 141,813 505,997 N 364,184
04 JI2ZtHIZ22NEE S 141,813 505,997 AN 364,184
oJlea 36,500
—SONER2OIIEES)
78,000 18«50 19,500
—Jlsog(BE) 68,000 1 x250 17,000
Oxg4+Y 7.502
—SOHERNRINEsES)
78,000& x 12 52 4,056
—Jlsog(BE) 68,000 1 x52! 3,536
OAZt224% 5,716
—SONER2OIIESES)
16,8793 x15A1 2t x1&H x 128 3,039
—J|=082(ES) 14,867 *15AI2tx1H«12& 2,677
O0f2t - 5422 2¢ 21,900




N L1
M B4 FEH 25
&S Fe 2P SHAH 2F (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— 02 (JI&ES=) 117,000& »1H «50 5,850
— 02 (JI1£R-28) 102,000& «1& +50L! 5,100
—F2JI&E5=) 117,000& »1H «50 5,850
—F2(JI&2UR-28) 102,000& 150 5,100
Odxt=g 1,752
—SOHMEED2(D&SsS)
78,0003 »1H » 122 936
—JlsdR(EE) 68,0003 x1H » 122 816
OEdg=z 18,122
—SOHEn2OI&sS)4UHEE =
42,851,000& «20% 8,571
— Ot 2@, wa, Jse2sS ¢ 08
S8z 39,231,000 x13% 5,101
—Jlsd 2 (BES)4UHEE=
34,229,000 «13% 4,450
OYZE FOtdl 200,000 »2H »23] 800
O& Xz Fot 7,347
—SHMERZ2OIE=S=)
3,923,100 12«10 & 3,924
—JlgdR(EE) 3,422,900 1H 101 & 3,423
OJIZEM(EIInEg)22X o2y
66,800 x3Z x5 «108] 10,020
Os02E | X 22l 66,800 8H «5 x123] 32,064
201 L2 | 234,996 194,583 40,413
01 At22t2l bl 13,513 13,989 ANAT6
OshtAlE 2 13,513
—ZeH EYH 220,000& +3CH *23] 1,320
— SAEX 22,900% »45F A «304 & 275
—ANRES 10,000& 105 100
—SOHE 82 82 50,0003 *20H 2 «40H 400
—S0tdE 88 22 500& =4, 000 0H 2,000
— g3y FAEE 2 HS 20,000& 105 200
—s0tE ¢34 332 100,000& 3Kl E 300
— st ™ MEE €84 337
100,000& 3Kl E 300
— S0 A3 2L 30,000& 20K 600
—S0tE Hi==2t ZHl FHl Xt
500,000& x33| 1,500
—SSEUFT HEgH &€= 200
— 02 &= 2 ™I 200,000& » 102 2,000
—shtdMMEE eF3A 60& 10, 0000H 600
—&371F NE A= 24,5003 123 294
—MYII=E 6,750 36504 2,464
— 25t SHEX 16,000 50 2 +12& 960
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N L1
a4 B L
Sl A LUABAAEH 7E
SN BB (HA) - MM - BES 0l &t o il
02 =224l 190,483 172,594
O32x2=2 % MA 140,172
— =t &JIe= 4,600,000& =128 55,200
ZLSOHEY 8123
1,460,000 «12& 17,520
— SO dAEE I3
2,900,000 «12& 34,800
—HABO0E JHYE HIIKS
350,000& =128 4,200
-~ SOAHHMEE QY 123
266,600& 12 3,200
—&=50tE &I|etE&el 341,000 <123 4,092
—shdMHMEE dJletd 2el
117,260 <123 1,408
—Z==s0td BHA2E 275,000& 12 3,300
— SO MHMEE SHAIAE
110,000& =123 1,320
— &350t daes 70,000& 128 840
—d+=sltNEd dae=s 32,000& 12 384
— st MMEE dates
45,0003 *23| & *12 1,080
—&+=50tE o= 2= 500,000& «12& 6,000
—SOAMASE &ot=E 23
280,000& =128 3,360
— d=D] &2l 33,000& *3M A +12& 1,188
—QCIHY AMERS 30,0003 *42| & +12& 1,440
—dgs A2 69,960 x12& 840
OsltAlE |X & E=4 50,311
— 50t S0 M HMEE ALEZ(EE
Y HS)s)EY 3,000,000& 32 9,000
—Z==30tE S0t N MEE LYot 2tel
CHe 620,000& =128 7,440
—s0td g4 S Az
8763 2004 *2)H &+5E 1,752
— SOl XMAMEE G2 HEY HZH|
8763 2004 *5E 876
— LPGIHHA S A 45,0003 2 *20H A +43] 720
—0=J & sEHEI 224
1,542 %604 =123 1,11
—18 EY & E=H A=
1,338 2004 123 3,212
—18 Ed 288 700
—1E E™ ¥ E&H #2lHl 500,000 204 1,000
—SOtAIE 22 H=E=M 2 43
10,000& x2& *30& 600
—S0AE |1 27 ¢ B2
10,000& 305 32| 900
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N L1
M B4 FEH 25
&S Fe 2P SHAH 2F (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
— S0tAIE A HHl =2
2,000,000 «37H & 6,000
— SO AY S +¢l
2,000,000 «374 & 6,000
—S0tAlE 286 BZ =2l 500,000 «24 & 1,000
—AN&E=2 =2 B 10,000
03 &ALZ2 ZHl 31,000 8,000 23,000
Od=s0tal M= 31,000
—s0tiHe 8= 100, 0003 8 & 103! 8,000
—a==X, 2, Jdiold xt
500,000& x2 103 10,000
—0lsa A YXt 500,000& 2 102 10,000
—JIet, 82 clER HM&E = 3,000
202 4l 6,200 6,200 0
01 = LH A HI 6,200 6,200 0
OZdgE FR=A ol 6,200
— S0ty 2egRFa 6,200
206 M= Hl 214,200 193,600 20,600
01 M= dl 214,200 193,600 20,600
OOt tigtAt= 21,0003 *200Z +12& 50,400
ootz A= 750,000 x7E+12& 63,000
ootg EHXIH(EH) 110,000& *305+12& 39,600
oz s 400,000 x4E 123 19,200
oot 3 200,000 305 6,000
os0tg ARE (A, &, HHXZ) 3,000
OsltdMEgE s&0 ¢ 6,600,000 «5& 33,000
405 XtatE SHI 990 0 990
01 At ESFH S 990 0 990
SOHAIE 298 23 990
— OIF2I 495,000& +20H 990
SO MAMEE HE2ZX SAAY 1,100,000 1,200,000 A 100,000
< 1,000,000
= 100,000
201 Let2d] 100,000 100,000 0
=) 100,000
01 AP 2telHl 100,000 100,000 0
OF i 28 F0(A2,2S IJIEHH) 100,000
< 100,000
307 glz2tol & 250,000 250,000 0
< 250,000
02 AHFHYAEEE 150,000 150,000 0
Ooggt SOHME 80,000
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L(L=H, S0tH3l) 100,000
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— =0t 20,000
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308 NtXIEHMSOIE 200,000 0 200,000

150,000
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EUNLY

Ol CH &t B & J 2 EF A HI 200,000 0 200,000
=S 1A= 200,000
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500,000
50,000

EUE
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) 0
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2N

=
Ba: L
L+

=EE Nk CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SRS PN R 9,500 29,500 A20,000
201 £B-2d| 500 500 0
01 At 22l 500 500 0
OESOHE dFdAN =57E 500
206 M= Hl 9,000 9,000 0
01 =4l 9,000 9,000 0
OEZHE YIMI(XAH) 300& +30,00001 9,000
L0 2AIZ DI XI& ALY 12,000 15,000 A 3,000
= 3,600
s 8,400
402 RIZ2EXt20l ™ 12,000 15,000 A 3,000
< 3,600
s 8,400
02 It 2 AL EZ (OIS ) 12,000 15,000 A 3,000
OLAZ F3HHA A3t 1,000, 000& *20CH x60% 12,000
< 3,600
s 8,400
A OUX 2E2AHY 48,280 0 48,280
= 36,210
= 3,621
s 8,449
402 2I2H X201 M 48,280 0 48,280
= 36,210
< 3,621
s 8,449
02 QI EAISEZ (OIS ) 48,280 0 48,280
OF&E UK 22 A
1,207,000 & *50kw*80% 48,280
= 36,210
< 3,621
s 8,449
HY I ZHI (4 60,856 22,154
ol 2d | 34,562 17,954
QAR HH| (S 4t 34,562 17,954
101 @124l 34,562 17,954
02 JIEtE B = 34,562 17,954
O==& A9 A JIEHA E= 34,562
—gAss ¥ 600,000 »2H «12& 14,400
—ZUIZRFE 8,210&3 x2H +67 Al 2tx 1228 13,202
— FAXEHI 250,000 x2H «12& 6,000
—RIEZ2R+E 40,0003 x2H 128 960
=& Hl 26,294 4,200
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2AM: sS4

o HISYAH (HLD)

@2 Jl2&tl (e &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
Jl23l 26,294 22,094 4,200

201 Bt H | 13,694 12,854 840
01 AP 22l Yl 12,762 11,622 1,140
osAMENTY 22,900& *158F A x 128 4,122
O=AI Xtz 330,000& x12& 3,960
OANRES #*¢ 100,000& = 12& 1,200
OAIR4a HEPL 150,000& 2 300
oxz=szX3 600,000& *4Z D] 2,400
OM=RA HD| dxts 65,000& =12& 780
02 33249l 932 1,232 A 300
OAIRA RASER= 11,0003 x12& 132
OMEA AR2 £=4AH| 200,000& *4 2 J| 800
202 04| 7,200 6,240 960
01 2LHOHI 7,200 6,240 960
ORAE2ZE =AY 7,200
203 € R =&lY| 5,400 3,000 2,400
04 2SI L RF=AH| 5,400 3,000 2,400
ORANBIEYERFAH| 450,000 128 5,400

_28_




